i) LYl zeliall 2Bge (o calall s AMiamat T Ss

'almanah}.com/ae

Qe @:@'ﬂ
gl Al 22l

4y Y. h Y
o I'1T B
| N WE |
- Y
II L‘r -u II
1 c
b r 4
y

ol ) dy dou] dall) dw y2d] dall) de N dy il

Js¥ Jaid] (6 6l u8 85latly pladl e sabod) Ciadl s lilad] (3o 2y 0l

Sletl iVl alif > 1



https://almanahj.com/ae/id=20244
https://almanahj.com/ae/11physics
https://almanahj.com/ae/11physics
https://almanahj.com/ae/11
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade11uae
https://www.facebook.com/grade11uae
http://bit.ly/3aMnDFh
https://t.me/almanahj_bot
https://bit.ly/3d8Us1B
https://bit.ly/3lSsdIt
https://bit.ly/3lQ5kFG
https://bit.ly/3ro2lFw
https://almanahj.com/ae/id=20244
http://www.tcpdf.org

Q.2; ***+* BONUS **+*= Mark(s): 4/4

The diagram shows two balls with different masses one A kM}“‘“! Al B (lilia oy S Jsali g
made of iron and the other made of rubber fall freely from ol a1 Wb s et alhial) (a (g JAY1 9 |
same height above Earth. Which of the following is true? o 404l @ jladl Ga ) oY) g (358 LY

Learning Outcomes Covered

o PHY.6.1.01,021
o PHY.6.1.01.025
o PHY.6.1.02.016

a.. Iron ball reaches Earth with larger velocity than rubber ball
Lol s S dc (g H8lde jug v ) Jaianal

b.: Both balls move with same acceleration :
i &JL..ﬁl'l iy LS gt o) ;JWE
i ;

c.| Iron ball reaches Earth before rubber ball )
Llholl 5 S J8 o V) Jiai aaal S

d.  Earth exerts a force on rubber ball equal the force on iron ball )
aalls S ales fin ol g A gluas gy Jallaalls £ 8 figim |

Q.3: ***** BONUS ***** Mark(s): 4/4

During a football match Sultan kicked the “ T &
ball in the air with an initial velocity of ) . "':{Q‘” o _"‘Js'n CJ‘:I’L" Js pa °{s °"JL-"f sl
12m/s at an angle of 40° above the horizontal, 3080 @k 13) A1 (353 40° 43515 12m/s 4148 48 sy
If the ball travels a horizontal distance of 5 94l (B Lgtalad (e La ¢(15m) Lo )ha 408) ASlesa

15m, how long will it fly in the air?

) e Bl i) o a3y L
You may use any of the given constants and equations where needed:

G = 6.67 X 10~ N.m?/kg? vy = wcosl x=10

Learning Outcomes Covered

o PHY.6.1.02.009

prssssssmany
k.
=
wn

[T ——

9.2s

0.78s



Q.20: Rotational Dynamics Mark(s): 5/5

The figure shows a force F exerted on a ol e S F a8 Gay Jod
door in six positions. In which of these el gall (g1 B ALl gl ge A5
positions the torque exerted on the door b ) e fsal) a0al GsSy
equals zero? ¢ Jiuall

Learning Outcomes Covered

o PHY.6.1.01.025

1&4 |
b.
2&3
) = =
5&6
d. B N o C - 7
2&5
Q.21: Planetary Motion and Gravitation Mark(s): 5/5
The figure shows the path of Mars around the Jsa sl us_gs S Js.....n gYa-1
Sun, in which position does Mars have the G589 A Las s ga c?' ¢ puadl)
greatest linear velocity? A.E:d.pﬂ P T all

Learning Outcomes Covered

o PHY.6.1.02.011

o

Fesssssmany
—
[ S —




Q.22: Equilibrium Mark(s): 0/5

Which point on the object moves in the : - | " st
same wI;y that a pointharricle would "':3 ? ‘.).“'“ "’JU] 0y ‘; "b u";fﬂﬁ ah"_,.:
move? e L e A i

Learning Outcomes Covered

o PHY.6.1.01.024

a.
The center of mass
angh) JSJA
b.
The inertia
g_‘;l;ﬂl J_y.ﬂij\
€
The moment of inertia
A gl e
d.i
i The center of rotation i
; sl S e :
Q.23: Describing Rotational Mation Mark(s): 0/5
A blender blade spins from rest to ) QgSaadl (pa (il S IR B R ) g5
9000rev/min in 4.5s. What is the A (9000rev/min) A Juad )
angular acceleration in rad/s* ¢ rad/s? 5235 5.9 g bl La (4.55)
) Al clplally 2 o g Ly e
You may use any of the given constants and equations where needed:
a, =—9.8m/s? G =6.67 X 10~ N.m*kg* 7 = Frsing
=9,
v, = vcosf F‘.‘=m"—1,i'“= Z=t
=
Learning Outcomes Covered T -
© PHY.6.1.02.011
a.
209rad/s2
b.
12.6rad/s?
[
2000rad/s2

-~
n
a
<]

e
=
W

(g
bessssmesed



Q.24: Circular Motion

L ks b il (8.4kg) il e
A cart of mass (8.4kg) is moving in b 4316 (2.0m) oyhnd inai syl
a circular path of radius (2.0m), a |.;.(42N) (110 & jSyo Bgd «'ﬂ_;.nJI
centripetal force of (42N) is applied g s (ol ‘mwl u il
to the cart. What is the tangential i " - syl
velocity of the cart?

(A Aty clbhally ) ou psk Ly oaed

You may use any of the given constants and equations where needed.

6=6.67x 10" N.m?/kg? b= mcash

Learning Outcomes Covered

o PHY.6.1.02.009

3.2m/s
2.3m/s
10m/s

0.1m/s

Q.25: Using the Law of Universal Gravitation

a planet has a mass of 9.1x10%°kg and its radius is

x=rb

o kb Liual §9,1x10%0kg 43kis 8 o€

1.8x10’m. What is the gravitational field strength e Audlad) Jlaa B )aka Lad ((1.8x107m)

on the planet's surface?

fiS o8l o

st} daly ) clblally cylgll G pils Lay i)
You may use any of the given and where ded
_ —11 P » :
a, = —9.8m/s? G =06.67x10""N.m*kg T = Frsinf
Gmym x=10
v, = v;cos6 Fg= rlz &
Learning Outcomes Covered
o PHY.6.1.02.016
A ARS8 I B LR L o L S A A I P O B A A R FIRA F PR B RA BN I A A S S o A A R AR A A Al
L)
n
L]
: 2
H 1.9x10“ N/kg
7.6x102 N/kg

9.1x102 N/kg

6.7x1026 N/kg

Mark(s): 0/5

Mark(s): 5/5

S —— ]



Q.6: Circular Motion Mark(s): 5/5

An object attached to a string is whirled in a circle as
shown in the diagram. The magnitude of linear : 2

AT 2 s 5 il
velocity of the object is 11m/s and the centripetal Agally lln:fs.M ¢ CT:;U-\:::
acceleration of the object is 150 m/s%. What ) Tx s La.sls;]m/s’ el &y 38 pall
is magnitude of x? c

BPR ERTPL LI TIETE PP PWES YY)

Learning Outcomes Covered

o PHY.6.1.01.027

al :
: 0.81m ;
b.
0.07m
[
14m
d.
1.2m
Q.7: Planetary Motion and Gravitation & Using the Law of Universal Gravitation Mark(s): 0/5
A satellite revolves in a circular path around the dss 8 Jlua (B olia b 9u
Earth. Which of the following could be a reason for the Lo (38 O (S b Laa é‘ o)

decrease in the radius of the satellite's path if the ‘.sﬂf‘“-d;']ﬂl' JL.\:;# Tw :LJ:ALJ
magnitude of the force of attraction between the Earth oAbl Al s ciiad) B0h Mk 5lds J

< 5 LUl elall
and the satellite remains constant? i
<A dedale ) clBally ol e al Lu Catd
You may use any of the given and equati where ded
= —11 TEad — =
a, = —9.8m/s* G =6.67x 10 "*"N.m*kg T = Frsin@
Learning Outcomes Covered
o PHY.6.1.02.012
o PHY6.1.02.015
a. Anincrease in the linear velocity of the satellite
L‘ﬁ.:‘.u.a.h )..ill 2._\.1:';]\ “\sﬂ‘ "53 Ly
b. An increase in the satellite's mass
eliall Ll A 3 5
c An decrease in the satellite's centripetal acceleration .
L] 1
" l
U OU ]

d. A decrease in the satellite mass
eelinall Laill IS G &



Q.8: Rotational Dynamics Mark(s): 5/5

A uniform sphere with mass e M"PE”" SIS
of radius (2.0m) . Its moment of poe JMia S 132 ((2.0m) o ki
inertia with respect to rotation Jaa 4l 99 £ 4l IR ) guall)
about its axis is 32 kg.m?? What is Mk L (32kg.m?) 20534
its mass? f4alig
Forasphere | 1= gmr2 38 ped

Learning Outcomes Covered

o PHY.6.1.02.045

al ;
E 20kg E
L nnnsmsnsnsssssssRAsAARAARRSRRARASRSAAARARARRARARARRARA A ARRAR AR AR SRS ARAR AR AR AR R SRR AR AR AR R AR A AR A R AR A A RS AR AR A R AR AR RS R AR R A R AR R A AR AR AR R AR R R AR R AR i
b.
40kg
C.
10kg
d.
3.2kg
Q.9: Relative Velocity Mark(s): 0/5
The figure shown an airplane flies due east
at 400km/h relative to the ground. There is a B gk 5 il JS2) iy
wind blowing at 90km/h to the west relative to Tl wdhs.ca ) Al 400km/h 48 e
the ground. What is the plane's velocity relative W Aadls 90km/h 48 pew oA sladl b
to the air? 201 3 () dpilly 5 jildall A po La ,i3a Y1

Learning Outcomes Covered

o PHY.6.1.01.026

490 km/h East & &

w»
—
(—]
~
2

~
-
=
hﬂ

w

-
‘EE‘

310 km/h West L&

490 km/h West L_&



Q.10; ***+=+ BONUS **++* Mark(s): 4/4

Two vehicles are traveling on the same @ lnal) (A S8 o g
circular path and the linear velocity of the Sl Glaill 45, judl g 432
first vehicle is twice the linear velocity of the A l) (e 6 glas (A 5!

) o A0 A8 yall Ada3))

second vehicle. Which of the following o 2 gt

statements is correct?

R L bl it On o s )
You may use any of the given constants and equations where needed:
G = 6.67 x 10-"'"N.m*kg* T = Frsin@

a, = —9.8m/s*

Learning Outcomes Covered

o PHY.6.1.01.026

a.
The two vehicles have the same centripetal acceleration
($ 3ol g i Lagd S
b.
The centripetal acceleration of the first vehicle is equal to half the centripetal acceleration of the second vehicle
L A8 jall (538 sl ol iamd 5 shasy (531 S pall 538 sl ol
C.

The centripetal acceleration of the first vehicle is twice the centripetal acceleration of the second vehicle

A A el 536 5l il B s L S 5l 5 365l el

A A8l 5 36 ) gl il 5 sl 91 28 5l 536 5 ol

.
L]
[
H
The centripetal acceleration of the first vehicle is four times the centripetal acceleration of the second vehicle H
1
H
H
[
[l
H



Q.11: Using the Law of Universal Gravitation

A satellite orbit around a planet at a
height of (4.2x107m) from the planet's
center and completes one revolution in a
time of (8.7x10%). What is the mass of
the planet?

gL Ao S aS Jga Slia b gy
Jass g S 581138 5a (4 (4.2x107m)
L (8.7x10%) 08 a2 Banl g5 90

S o<1 ALE Lad

A Ty Sl S oy 2
You may use any of the given constants and equations v_abere needed:

ay = 9.8 mys? 6 =6.67x 10N, m*kg”

Learning Outcomes Covered

o PHY.6.1.02013

Q.12: Describing Rotational Motion

The figure shows a rotating disk ad two spots on it A and B.
(A)is at (X) ecm from the disk's center and (B) is at (Y) cm
from the disk's center. How can the angular velocities of the
two spots be compared?

t=Frsing8

5.8 x10%%¢
2.9 x1024kg

8.5 x1024kg

e Al e (B) 5 (A) Cliaky g 450 s Lo i Joil) ela)
o (B) 5 c0a Al 8 5e G (X) em s 5 (A) S 1
e puall & e Sy S <o Al S e O (Y)em Adlas
Tl 4y 5030

Learning Outcomes Covered

o PHY.6.1.01.025

The angular velocity of spot (A) will be greater than spot (B)
(Byaidl iy gl 3 de puall cpa i (A) dadall 450 30 Ao )

The angular velocity of both spots will be equal and nonzero

1 e (g glosti ¥ g A gludia opiaBll Ay o) 31 Ao )

The angular velocity of spot (B) will be greater than spot (A)
(A)AaRll & g1 30 Ao ) (o oS (B) dadall & g1 30 s pudl)

The angular velocity of both spots will be zero
Ciaiall | jhea (g glead 45 9) 3 A )

Mark(s): 0/5

[ ————

Mark(s): 0/5



Q.13; ***+++ BONUS **#*+ Mark(s): 4/4

The figure shows Mohammad and his sister T """f’“ Skl Jadl J‘s‘hﬂ

Laila playing on a seesaw, which of the Lea gl Ol Aa52)) o

following can lead to the balance of the QI (ol 530 O (S

seesaw? f4a 52 )
-

Learning Outcomes Covered

o PHY.6.1.01.024

Laila moves closer to Mohammad

pEessssamanny

Mohammad moves closer to Laila
s e L e dema d jald

Muhammad and Laila move towards each other the same distance
Adlical) udly Lagumny oladly il g Sasa & jad

Mchammad and Laila move away from each other the same distance
Alosall iy Lageimny (o (paadae (A5 deae o 5ol

Q.14: Planetary Motion and Gravitation Mark(s): 5/5

Two moons M;, M, with different (GLAlA . Lapalili€ My « My o) e

masses are moving in their orbits aaf Ja Laga e A o)
around a planet, as shown in the Las () JSAIL e 5 LaS i) 6S1)
figure. Whi.ch of !he f(.lllﬂwiflg is 693 Gl Al miana b
true for their periods in their Slaga i g (i padll
orbits? ' )
P

Learning Outcomes Covered

o PHY.6.1.02.011

a.. M, has a smaller period than M; .
M, = Bl oo 1

M, and M, have the same period

n

L_ﬁJ)Au el o lagd My I

It can't be determined
oxaal Gl Y



Q.15 ***** BONUS *****

One car is following another car in
the same direction at the same speed
v, what is the speed of one car with
respect to the other?

Learning Outcomes Covered

© PHY.6.1.01.026

gudiy $y3l Byl 8)lw G=li
Lo v deyuill Guiisg alzilll

$65)> W dpilly

Mark(s): 4/4

- o
| 2v
0.5v
= - ____V__ S = —

Q.16: Describing Rotational Motion

n

Suppose a Ferris wheel in Dubai
has a frequency of (0.1Hz). What
is the angular velocity of the
Ferris wheel in rad/s?

Learning Outcomes Covered

o PHY.6.1.01.025

#)gd) G 58 Aad 235 jlaha o G )
e U ¢ (0.1Hz) o Asta b
Y gall A0l As )

¢ rad/s by

Mark(s): 0/5

0.2
0.1r
10m




Q.17: Relative Velocity Mark(s): 5/5

What is the speed of car B relative  4#IUB 3 L) 42 ju jltia s

to car A and car C, respectively? foui Al e C 5 A O all

Learning Outcomes Covered

o PHY.6.1.01.027

a.
(95,4 = 60 Km/h),(9p;c = 60 Km/h)
b.
C.
(98/a = 70 Km/h), (05,c = 80 Km/h)
d.i i
: (98,4 = 10 Km/h), (95)c = 140 Km/h) :
Q.18: Planetary Motion and Gravitation Mark(s): 5/5

. g y m Laga JS ALS Glasa
Two objects each with mass m at a distance r from each ul;,.ga_d | baguians (0 ruaihu

other. The gravitational force between them is F. If the
masses of the objects are increased to be 3r, what will be
the gravitational force between the objects?

@03 L F Sk oldlady
#S ¢ 3r sl Lagdss Ablosal)
oy uiall 58 liha sy

sl e cllally Sl (o pils L
You may use any of the given constants and equations where needed:
S G = 6.67 X 10-V'N.m*kg® t = Frsin@
=9

Learning Outcomes Covered

o PHY.6.1.02.015

,...-.......
i
=
b=]
e

F/3



Q.19: Projectile Motion Mark(s): 5/5

Given that there is no air resistance, JSd Lo celggll doglio Jlaaly
what trajectory will the arrow take ade y=inw S jluall
after being shot from the bow for ousill oo a8l Ay agall
long distance? Saljgb 2lul

Learning Outcomes Covered

o PHY.6.1.01,021
o PHY.6.1.01.025
o PHY.6.1.02.016

a.
Linear path
uki JLHM
b.
Circular path
A s
e i
E Parabolic path E
; (A8 pdab jlea :
R oo RN ... sl s B s ;
d.
Elliptic path

e g s



